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5 |k I (R S3 43 44 87 15.6 714\ FEATEREN
6 |/ K B OE T 51 42 93 21.6 LAYy 7= k=R
7 |\ g i 47 46 93 21.6 TLA|TFAT 77— TFA78
8 7 s Al 39 35 74 2.4 71.6]9 V)
9 |/ R (e 43 49 92 20.4 71.6|FJ A A ZL 2
10 |& 1 % 45 47 92 20.4 TL6| AR ar P —Fal —F—
11 | i i 56 48 104 32.4 71.6
12 |#% ] s 37 42 79 7.2 71.8
13 B M o\ — 5 40 45 85 13.2 71.8
14 | 2 ’oH 41 43 84 12 72
15 |/ B W IE A 41 43 84 12 T2\ BRI
6 |¥ K Bk 42 41 83 10.8 72.2
17 | = 1R 39 44 83 10.8 72.2
8 % Ji Bk £ T 45 44 89 16.8 72.2
19 (F  H i A 49 46 95 22.8 72.2
20 [ B % 37 39 76 3.6 24| F—= H—F_ o
21 (i & 3 A— 45 43 88 15.6 72.4
22 |#% M I | 44 44 88 15.6 72.4
23 |wm M g 45 43 88 15.6 72.4
24 B H O A T 46 42 88 15.6 72.4
25 |j% 5 = 48 46 94 21.6 72.4|7VF AR RAR RS
26 |W 63 = 45 55 100 27.6 72.4
21 @+ E B 42 45 87 14.4 72.6
28 (% s B E 45 42 87 14.4 72.6
29 v B i AT 42 45 87 14.4 72.6
30 A H 5L A 44 43 87 14.4 12.6|A— 27N Var Ay F IRk
31 | H & 40 40 80 7.2 72.8
32 |8 H o 38 42 80 7.2 72.8
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51 |tk & 5F 47 46 93 19.2 73.8

52 |8 K b A 47 46 93 19.2 73.8
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57 |B OH B O£ T 48 43 91 16.8 74.2
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61 |k ) F AT 44 52 96 21.6 74.4
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63 |7 2 W 47 49 96 21.6 74.4

64 [ 4 - B 43 40 83 8.4 74.6

65 [ i1 BT 44 45 89 14.4 74.6|Umbo R /3v 7
66 |14 M 3 44 45 89 14.4 74.6
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0 |= N il if 40 41 81 6 75|k BBV
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78 |/ L it — 37 42 79 3.6 75.4

79 oo % [ 42 43 85 9.6 75.4

80 |l 1] B BE 42 42 84 8.4 75.6|ZARIAL R—)Llr—2
81 [#k B = 40 44 84 8.4 75.6

82 [ & L o X 44 40 84 8.4 75.6

83 |&H H st 42 48 90 14.4 75.6

84 & K n 5 47 43 90 14.4 75.6

8 |& T %X H W 50 46 96 20.4 75.6|VHEFEET vk
86 |#2 th & 46 50 96 20.4 75.6

87 Il H &%= 46 50 96 20.4 75.6

88 [= W ¥l 46 50 96 20.4 75.6

89 [ r W% 43 46 89 13.2 75.8

9 | BE Ei 43 46 89 13.2 75.8| @ik O

91 [EE & w1 42 47 89 13.2 75.8

92 |#& H L N 48 47 95 19.2 75.8

93 [k W HE 54 47 101 25.2 75.8

94 |74 i3 b 45 43 88 12 76

95 | BE ®=  F 45 49 94 18 76|~ MR MRS o — A
9% K i} fn + 52 54 106 30 76
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98 (B B & 47 46 93 16.8 76.2
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101 | 2 w o F 51 54 105 28.8 76.2

102 | B8k 53 52 105 28.8 76.2

103 |3 = 40 40 80 3.6 76.4

104 |N H % A 43 43 86 9.6 76.4

105 |A& H 1 45 47 92 15.6 76.4|7—~< Xxv S
106 |& A % 46 46 92 15.6 76.4

107 | 7 M 47 45 92 15.6 76.4

108 (B X A E 45 53 98 21.6 76.4
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119 |/~ % ®H JE — 41 41 82 4.8 77.2
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121 |l H woF 51 49 100 22.8 77.2

122 |vf R ¥ F 52 54 106 28.8 77.2

123 [k B R 50 49 99 21.6 77.4

124 |78 ¥ % # T 46 53 99 21.6 77.4

125 |H Hh p2S Z 50 55 105 27.6 1714\ 70 RHB 7T
126 & 45 B O® 55 49 104 26.4 77.6
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128 | ¥ H [EAE< 53 51 104 26.4 77.6
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133 |B 1 o — 51 49 100 21.6 78.4
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136 | #F L7 e 47 46 93 14.4 78.6

137 | % US 48 45 93 14.4 78.6
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141 | W %R 47 45 92 13.2 78.8

142 |1 ) b 56 54 110 31.2 78.8
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147 [ 7 %z F 53 55 108 28.8 79.2
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151 |%% H CI— 48 46 94 14.4 79.6
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155 |& I B 50 54 104 24 80[ZANIAR R—/Llr—R
156 [ A EO8k 46 51 97 16.8 80.2

157 | R B = 52 49 101 20.4 80.6

158 |5 W /) 51 50 101 20.4 80.6

159 |8 K 2 B VY 50 51 101 20.4 80.6

160 |#E i E B 51 56 107 26.4 80.6|K V7 4v Tz

161 g AR 47 53 100 19.2 80.8

162 |F  H 52 59 59 118 37.2 80.8

163 |3 M 15 44 55 99 18 81

164 K il 52 53 105 24 81

165 |[f H: tE N 61 58 119 37.2 81.8|> F XM JEEF

166 |4 i3 B 51 55 106 24 82

167 |& W E — BB 51 47 98 15.6 82.4

168 ¥ JE g H 46 50 96 13.2 82.8

69 | W E A 56 50 106 22.8 83.2

170 |RR H B3 56 59 115 31.2 83.8|FF%E Bt h

171 |#k fif] = IC 55 53 108 24 84

172 |5 R ES 56 52 108 24 84

173 |XK % A P 61 53 114 30 84

174 |& Qb 58 55 113 28.8 84.2

175 |4 % SE 58 54 112 27.6 84.4|fB 2 )\ %32

176 ¥ 7 B 54 61 115 30 85

177 |1 R Wk 50 56 106 20.4 85.6

178 & = % 55 62 117 30 87

179 |3 iT E-I 55 70 125 37.2 87.8

180 |t % - % 63 58 121 32.4 88.6| 77U =T

181 |& CI 68 61 129 39.6 89.4

182 |44 % i 64 58 122 32.4 89.6
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